Here is "special case #1"; Here is "special case #3":

the chord member third is doubled; the chord member fifth is doubled;

Ti resolves to Do; Ti resolves to Do;

instead of Fa resolving to Me,

Fa moves to So. one Fa moves to So and other moves to Do.

Here is "special case #2";
Here is the normal resolution

of a leading tone diminished triad; the chord member fifth is doubled;
the chord member third is doubled; Ti resolves to Do;

Ti resolves to Do;

Fa resolves to Me. one Fa resolves to Me;

the other moves instead to So.
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